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INSTRUCTIONS TO CANDIDATES

1. Write your name, form class and register number clearly above.

2. Do not turn over this page until you are told to do so.
3. Follow all instructions carefully.
4. Answer all questions.

Section A 6
Section B 9
Total 15

Parent’s / Guardian’s Signature:

This booklet consists of [6] printed pages including this cover page.

BP~3




BP-~4



-

LT

1

Section A
Multiple Choice Questions (6x1m)

Choose the correct answer and write 1, 2, 3 or 4 in the brackets

provided.

1.

2

3.

4.

The value of the digit 6 in 6017 is

(1) 6 | (2) 60

(3) 600 (4) 6000
3891 = 3000 + +90+1

(1) 8 ones (2) 8tens

(3) 8 hundreds (4) 8 thousands

4 thousands + 11 tens + 41 ones =

(1) 4052 (2) 4151
(3) 4421 (4) 4520
What is the sum of 2381 and 40927

(1) 1711 (2) 6173
(3) 6373 (4) 6473
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5. Which of the following is the smallest?

(1) 2thousands (2) 21 hundreds

(3) 220 tens (4) 2022 ones

6. 551 less than 7490 is

i

(1) 1980 (2) 6939
(3) 6941 (4) 7141
Section B

Fill in the blanks with the correct answers. (1 mark each)

7. Write 6495 in words.

8. Inthe number 8612, what does the digit 1 stands for?

Ans:
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9. Find the value of the following question.

6 8 5 2
+ 21 9 ¢

- Ans:

10. Subtract 1299 from 3000.

Ans:

11. Find the missing number in the number pattern betow.

9297, 9247, 9227, , 9157, 9107, 9087

Ans:
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13.

5
Arrange the following numbers from the greatest to the smallest.
1203 2103 2030 1220
greatest -
What is the missing number in the box?
6 0[,18
17 8 5

4 26 3
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14. The difference between two numbers is 293. The smalier number
is 1768. What is the other number?

Ans:

18. 1 am thinking of a 4-digit number between 6000 and 7000.
The digit in the ones place is the smaliest odd number.
The digit in the tens place is 3 more than the digit in the ones place.
The digit in the hundreds place is 2 less than the digit in the thousands
place.
What is the number | am thinking of?

Ans:

End of paper
Setter : Mrs Narin
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YEAR
LEVEL

2022
PRIMARY 3

SCHOOL: CHU PRIMARY {TO&PAYOH)
SUBJECT : MATHEMATCS

TERM  : WEIGHTED ASSESSIAENT (TERM 1)
Qi 4 o2 | 3 | a3 | 2 [ o4 | a4 | 05 | 1
Qb6 2
Q7 * | Six thousand, four hundred and Qa8 10
ninety-five
a9 | 9051 Q1o | 1701
Q11 9.1?"{ Q12 | 2103, 20380, 1220 1203
Q13 |3 Q14 | 1768+ 293 = 2061
Qls5 (6441
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